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30197622 poupe A-4 /xerox/ PLUZ huiwn 1900 66.5 35
39263200 gpuubiywluyht ghpp /92 rhpp/ RPLUZ hwwn 500 2.5 5
30192160 ouiphju PLUZ hwuwn 250 2.5 10
30234300 nuunwpl uunjunwl PCUZ hwn 100 4.0 40
22811170 hznuﬁxhp]'x poLNR RPLU2 hwuwn 100 2.0 20
2851200 ppwwwiml Yn&qud PCUZ hunn 150 3.0 20
30197233 prpwwywiwl phikpny PLUZ huin 80 1.6 20
30197231 Ppwuywiwlu $uy PLUZ unith 1000 5.0 5
30197232 pRpwywbwl wpuqulup PLUZ huwn 80 3.6 45
30197232 | pnpuywhwl wpwquljwp/ gnibiun)np/ PLUZ hunn 170 34 20
30197233 | pnpwwwhwl nkghuwnp /Epljoquiljmbih / BLUZ hunn 800 4.0 5
30192137 Uwwnhwn /hwuwpuly/ PCUZ hunn 70 0.7 10
30197100 | Ywphsh dbnwnuyupk Juuykp Alhohty/ PCUZ unuth 100 2.0 20
30192128 qphs /qughljunp/ PLUZ hwwn 150 7.9 50
35821400 npny RCUZ hwin 2500 5.0 2
30141210 huwigyhs Wbpbing PCUZ hww 2200 22 1
24911200 unuhbid /kdniyjuhwy/ PLUZ hwwn 200 2.0 10
30192730 puthwiighy uysnih Juqd PLCUZ hwn 100 2.0 20
22811120 npuiwplnuihl kiph opgkp RCUZ huwn 5 0,5 100
22811120 gpudwplnuihli ununph opglip £CUZ hunn 5 6.0 1200
30197332 Yuphs/dhohty/ PLUZ hwin 1750 3,5 2
30234640 b1k hhonympimi 16 gp PLUZ hunn 10000 10.0 1
30192700 Tpuniwplnuipi ghpp POUZ hun 3000 3.0 1
30199231 ianlmabhh Snitn athahl  winksch ONTT S SRR ~rn 2 S e



30199232 Opwp, Uk A4 $npdunnh hunfup PLUZ hunn 50 15 30
30192710 Unubdundwinpwn_gpuubiyuluihb PLUZ hunn 180 0.9 5
30192720 Sdwlighy Adwplykp/ PLUZ huwn 200 1.0 5
30192135 Spuwdhuink dhonily dwwnhwnh hwdwp PCUZ huin 80 0.4 5
30192136 Uwwnhwn gpudhnt dhoniyny PLUZ huwwn 250 0.750 3
30192700 Lwinb ninhy, gdwpwdwbnulubpny PLUZ hunn 70 0.350 5
30192100 (Pewnht  hwuwpwl vhoht suthup PLUZ hunn 100 0.6 6
30192760 Uphs RCU2 hun 250 1.0 4
punudkup 150.0
Spwiuynpunughb hympkp
09132200 Pkughti / nkqnijjup/ BCUZ 1hwp 315 600.0 1905
09121700 Puwlwl qugq PCUZ Jud 165 300.0 1818
punqudkup 900.0
Ubpktwlkph pupwghly tinpngmud
Uwjpwilip
42121530 Utpklwkph swpdhstbph dwubp b - 150.0 -
wuwpuquikp
punudkup PLUZ npuyd - 150.0 --
Uupulip
45461100 Chiwulynmp hwdwybipwy bnwputh -- - - 183.650
pupwghl inpnguwi hurdwp
45461100 : Lundy PLUZ huin 300 ° 1,2 4
45461100 Uywnndwwn whgwwnhy PLUZ hunn 7500 15,0 2
45461100 NMntdk hungnppuyup PLUZ Ubwnp 150 0,150 1
punudkip 200.0 -
Stunbuwljwh b uvwthhghkuhly ympkp
39812600 Uhinwhwihs dwppnn dheng PCUZ hunn 400 1.6 4
39831280 Uyuwljh jJuibiuynt hkgndyy 11 PLUZ hwwn 1800 1.8 1
39812100 Zwunwly dwppnn hknnlly 2 BCUZ huwn 2500 2.5 1
39812410 Yuhnijph thuy kging dheng 0.5 | PCUZ hunn 2600 2.6 1
39812600 Uwwuph Jugdwb hknnl PLUZ hunn 500 2.0 4
39811300 Znwnwgqkpény vhong PLUZ hwwn 500 1.0 2
39831272 Uyniliq withuk pjubiugne PCUZ hunn 100 0.5 5
39800000 Zunnuily Ywppkint gnpéyjwdp PLUZ hwwn 600 1.8 3
/wnipdkpuht/
39221470 Uyl PCUZ hunn 900 1.8 2
39221140 Unip&h pwdwljubp PCUZ wunuth 5000 5.0 if
39221140 ©kjh pmdwljukp PCUZ winith 7000 7.0 1
39513200 Ubdknnghlukp /Eplokpun/ PLUZ hwwn 240 2.4 10
Cunudkup 30.0
OuUnNuUsNkhE3NkL
72150000 Uwulughnwlub Swnuympinih PLUZ npud = 57.744 --
79131300 ElEjunpnbughh mnnpugpnipyub PCUZ npud hun 3.0 1
uywuwpldwi J&wp
76130000 Fuquuywndwh hwdwljupgh PLUZ npwd - 12.536 -
uywuwpldul J&wp
22211100 << Upinnuljupg>>pkpph PLCUZ hwn 48 6.720 140
pudwiinprugpnipnil
72200000 | b/h b ¢/h wjnndunwugywsd hunfwljwpgh PLUZ npud 33400 334 1
uywuwpldul J&wup
72200000 ubnbjunjujuljult hudwlwpgh RCUZ npud 10000 120.0 12
uywuwpljdwl J&up
32412120 | huunkpubwn juyh Swewympub wpdtp PLUZ npud 11000 132.0 12
32412120 | Bupwwhpnyph /modkuh/ vyyuwuwpljdub PLUZ npud 12000 12.0 1

d&uin




. 64211130 Foounhtt hknwunuwljugh PCUZ npud = 130.0 3
Swnwympnil
79100000 hpuwjuwpwiwljui  Swpwynmpnii PLUZ npud i 150.0 =
09121700 quigh Juipd £0UL Jud 156 400.0 2564
(09000000 k1. Eukpghuigh Jupd PCUZ yw/d . 46,2 600.0 12987 i
71631120 Swrwnquijui w/d nk.qibnud PLUZ npud = 25.0 2
90720000 Ruiunyuhuywbwlwh ywpunwughp 52 = — 50.0 -
J&wpukp
66514100 | dwnwnnuijub w/d wuywhnjugpuydup PLUZ npud s 60.0 2
22211100 phpph pwdwlinppugpnipinih PLUZ npud s 89.0 2
50311120 hwdwljupgsuyhtt vwupp PCUZ npud e 100.0 -
uwppuwnpnidubph vyyuuwplnid
71631120 Ubpklwtkph pipwghl tinpngmud b PLUZ npud 150.0
unbkhLuyuwuwmplmd
puuukup 150.0
Slunwd shulinhuwignn dwjuu
995000000 woluunudwpd npud 15900.0
95000000 Uoluwnunjwipd /ujupghunnpnid/ npud 1050.0
Uwjpwiip ;
30237100 Zwndwljuipghy PLUZ npud i 800,0 -
Ughuunnuip
45111440 Zundwyipuy bvnwpwith hwpwlyhg e npud 2600,0
thwpwdph pupkljupgoud g
plyudtip npud 2600,0 -
71241200 Lwhugsw-hnwgnunuljub PLUZ npud xe 400.0
wohmnwbiplibp
punudkup npud 24311.4

Opwgph wijubnup ‘Lwhunupnguljub Yppoipmb
puidhii 9 junudp 01 quiu 01 dpwghp 51 B

Qunud shwlinhuwgnn wy dwhiukp F
99000000 pupwghly gpudwsbinphitkp 20UY-hi npud 7927.0 5
punudkip npud 7927.0

Opuqph winjwinudp Cunhwimp pinyph wy) Swn-u F

pwdhii 1 funwdp 3 nuu 3 spwghp 51 F
Ownuynipintil

50310000 Cunhwlnip piinyph wy) Swnwynipinih PLUZ npud 1170.0 r
plunudkip 1170.0 E

Opwugph wijubinudp @nuyph tuwndwdp hpuymiph r
qpulignid T

pwdhl 01 funudp 06 nuiu 01 dpwighp 52 2

Ownuynipjnih

70330000 Qunuuwnwphl npud 200.0 E
Swinwympjnil/ gniph E

gpubgnud/ E

72160000 wkwn nnipp/yupununhp npud 50.0 L
Gupbp/ i

plunfip 250.0 i

Opwgph wijuinulp Lijhpuwnympnil wy) swhnype £
_shinwyinnn juqiulkpynipymibiitkph E
Pwdhl 10 unudp 07 nuu 01 dpwghp 55 L
Qumd shwbinhuwgnn swhu npud 100.0 £

99000000 | plnwukin gpund 100.0 L
Opwgph wijwimup Spgwljw dhgujuwiph E
wuonywbmpint /Unpuhwbinupinl/ L
Puwdhti 05 junidp 01 nuu 01 dpughp 51 L




Uypuitip

09134200 Thqbpughh uink hp PCUZ 1hwp 330 300.0 909
/undmpuh/
Qumu shuinhuwgnn wy
Swhuukp
99000000 wouwwnuupd npud 1230.0
pugudkup 1530.0
Opwgph winjwimy Zudwyupuyhb ypwlnyph b wquin
dudwigh juquulkpuynud
Pwdht 08 funuup 02 nuiu 03 dpughp 51
Uuypulip
39220000 Udwbopju Wwjkpukp £LUZ npud = 200.0 -
/Epkhuwtpht/
39221140 ] Eplikp/gnunuipbiuly PCUZ npud = 500.0 ---
Juwhwig vhe. opdu wpphy/
punuUtip 700.0
Ownuwjnipjnii
55241200 Zwlquunh juquulkpuynid PLUZ npud 500.0
punuUkup 1200.0
Opwgph whjuimy Zwighun dywlmjp Ypnb
Pudhli 08 funudp 05 nuuu 01 dpwghp 51
Uy pulip
Uwpwliph dknp phpnid
/Anplinkqht b hwdwjuph iy 447.0 g
hhdtwunpiwh opjuity
n]hpyud/
03321300 Nspuwp PCUZ hunn 495000 297.0 6
15911100 Onh PCUZ Zunn 1200 48.0 40
15981100 Zwlupwyhl gnip PCUZ Zunn 250 10.0 40
15981500 njugnighy puwkihp PLUZ Zunn 250 10.0 40
15331178 Nuwhwbnjugyud pubgwpknkh PLUZ hwn 800 12.0 15
15540000 Twbhp PCUL uq 2000 100 5
15911300 Ynljuly £LUZ Zunn 2000 40.0 20
03200000 Yupunndhy PLUZ Uq 200 6.0 30
03210000 Zwg PLULZ Zun 200 10.0 50
33141118 Ulbdknnghl PCUZ Zunn 200 4.0 20
punudkiip 150.0
39220000 Uwwnwbhubp inpuujuul £LUZ gpud 15000 217.500 14.5
qoyqhpht
Ownwympjnil
79220000 Zwplynn wyp Eyudnuntibphg = npud 33000 33.0 1
Ejundnughtt hwply
22100000 gppkp £CUZ npud = 25 -
plugudkip 700.0
55241200 Zwbquunh juquujbkpynud -- --- 100.0 --
Qunud shwinhuwgnn wy
Swiuukp
99000000 woluwnunwpd 4650.0
Ughaunulip
45261167 Uswiljnyph b PLUZ npud - 990,0 -
ohtiwpwpupnipnih
4530000 Uswljnyph wwl juuhwuwg PLUZ npud ot 990,0 -
AdEnmiinnnaniif




Uypulip
39151100 Ubknuiibkp PLUZ npud & 600,0 =
39151100 Upnniikp PCUZ npund - 300,0 -
Chgublip 8330,0
Unghwjuwlub ywonwwbnipynih
Pwdhl 10 umup 07 nuu 01 dpwghp 54
Qunud ghwbinhuwgnn wy
Swihuukip
75310000 wy| byywuwntikp pymigkhg npud 2000.0
75310000 hniqupuynpnipjui byyuwun npud 400.0
Clyufbiip 2400.0
Opwgph wijuinulp Pupdpugnyl Yppnipyni
Pwdhl 09 junwlp 04 nuu 01 Spwghp 54
80300000 Yppwlui buyywunbkp pmekhg npwd 200.0
punudkup 200.0
Opwgph wijuwinmy Upwnwpht jntuwydnpnipyui:
guigh hhdiwinpngnud /thnn. jnruwynpoipyniiy/
Pudhli 06 fumup 04 nuu 01 dpwghp 51
Ownujnipjnih
65310000 ] k1. Eubpghuh Jupa PLUL yyw/d 46,2 800.0 17316
Uupuip
44300000 |muwinnt uwppwynpmdubph b PLUZ npud hen g 801,4 -
wlhpwdbon wupwqubbkph dknp
phipnud
Ownuwjnipjnih
98391200 Pulnynpuljul Swnuynipinih 200,0
punudkip 1801,4
Upwgph wyjwbnud Qpuyhtt Yuenygubph
owhwgnpénud b wwhwwbnd
Pwudhti 06 funidp 06 nuiu 01 dpughp 55
Ownuynipjnih
65000000 opuwdwwnwjupupdub J&wp PLUZ Jud 36 2500.0 69445
Uypwilip
44110000 Chuwiynmph dbnp phipmd fudbjne PCUZ npwd 200.0
onh funnnjwljikph
JEpwinpnguub hwdwp
plhqudkup 200.0
Sl shwlinhuwgnn swjuu
99000000 wohrunuyupd npwy 1000.0
phnunibip 3700.0
Opwqph wiubnudp
Ywbwy wnwpubdplbiph hhuinud b wwhwywbnd
Pwdhli 05 funmudp 06 nuiu 01
77211700 Ownkp PLUZ npud - 900,0 -
Cunudkup 900,0
Opwgph winjuinup Vwownuypnguljub
huwunuwuinmpjub hhdbwbnpngnud
Pudpl 09 Junulp 06 muu 01 PCUZ npud 5| i N
Uppuunnwlip
4530000 e 3
Cunudkip PLUZ npuy 990,0
Upwqgph wijubnuip Uupwjn-phnniyw Swslh
Ykpuwinpngmu

Pwdht 04 funuwip 05 guu 01




Unypuitip
09134200 Tthabjuyhti Junkihp /mdwowhiy PLUZ 1hwp 330 400.0 1212
09121700 Plwljwh quq £CUZ huud 165 600.0 3636
Uglumunwtip
45231187 Uudupnuwyunnmd FLUZ npud 990,0
punultbp 1990,0
Opwgph wiwinup  upswljwh poigkh npud 3364.6
wwhniuwnughb $ntin
Pwdhl 11 funudp 01 nuu 02
| plnundkip npud 3364.6
npud 4584,843
Opwgph winjubnup  $nlmwghb poigkh
wwhniuwwnughb $ntin
Pwdhl 11 funudp 01 nuu 02
pungudkp 4584,843
CLHUUTBLR 64749,243
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